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This question paper is meant for all Regular and Private students. Answer any
five questions. All questions carry equal marks. The blind candidates will be given
60 minutes extra time.
1. AN Q@i ¥ ST T gHAS € ? one sy # Afve Rt o g # acty fiftne )
What do you mean by Cost Accounting ? Describe the different methods and techniques of
costing.
2. Freafafee srisst & aefty 5 05 & Rng wyie w02y o w9 i -

Compute Machine Hour Rate for machine no. Uo from the following data :

(1) 79 F @7 (Cost of Machine) 11,000 &7
(2) Ry & (Scrap Value) 1,000 5@
(3) wardt Sftaer (g9ef F) (Effective Life) tin hours) 10,000 972

(4) WOWE Ud TE-@E Q3 SaA ¥ U (Repairs and maintenance for whole life) 2,500 &0
(5) wiLEH ® jag g =g (25 Fdvier B F @ e & o)

{Standing charges for shop, for a month of 25 working days) 400 9@
(6) Fr@r & A9iAY # @@ (No. of machines in the shop) . 10
(7) ufefes #rfefie 992 (Working hours per day) "" 8 w2
(8) wfdy &7 Sudnr afy 9¢f afe "e (Power used per machine per month) 75 &

(9) wehtw €8T g F=1 5% (Machine insurance 5% of Depreciation)

wE FCEE W X 3% F90 ¥ Y aar Z @ Iorrg g @ o € | I i oy e e #
A factory producing article X also yields Y and Z as by products. The joint cost of manufacture

is :

&4& Rs.
T (Materials) 10,200
=9 (Labour) 11,500
Juftsa (On cost) 7,500
ahr (Total) 29,200
IeEdt gus @ A ¥ ¢ Subsequent separate costs are as under :

X (Rs.) Y (Rs.) Z (Rs).

it (Materials) 2,500 1,200 1,400
w1 (Labour) 1,900 1,600 2,000
=T (On cost) 1,500 900 1,050
ahr (Total) 5,900 3.700 4,450
fasht Y= (Selling Price) 30,000 20,000 15,000
fadt qer = sgefae arw
(Estimated profit on sales values) 40% 30% 25%

Y IWRT A TYEFT TG HT FEATT ST TAT AEAGH @Te TG |
Show how would you approtion the joint cost of manufacture and prepare necessary accounts.
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xma 3wl & i 6 =8 vt §, o 60 e g & 1w ¥ 50w ¥ AF A e & 4
arﬁa 2018 & a=fRw o7y o A= ™ & -

X Company Ltd. is running 6 buses between two towns which are 60 kms apart. Seating capacity
of each bus is 50 passengers. The following particulars were obtained from their books for the
month of April 2018 :

&0 Rs.
grgaT # as1glt (Wages of Drivers) ~ 48,000
GUTETESIK 7 & (Salary of Supervisor) ~ ~ 20,000
Erorw amsa (Diesel 0il) «—- - 1,80,000
AUHT (Repairs) 54,000
FT 0@ 41 (Taxes and Insurance) - 30,000
BT (Depreciation) . 80,000
= 3R 37 =7 (Interest and other expenses) '™ . 20,000

T & 33 Y | F 80% ot # f & sy war ar | o 9 A F wdw O wrg & & | w&@w

T g arr-om & & Ry fr ft | wfr arh frender s s iR | hiep://www.davvonline.com
Actual passengers carried were 80% of the seating capacity. All the buses run on all the days
of the month, Each bus made two round trips per day. Find out the cost per passengers km.

@ﬁﬂﬂﬁ%ﬁ' wH% OF @y Aaff st & gafAm
The following data are related to a small manufacturing company :
@t (Fixed Cost) Rs. 1,60,000
uRagdaefa @rTe (Variable Cost) RS ¥ 60% (60% of sales)
TWAT HIFT : (Calculate) :
(1) wTW-uTr S (P/V Ratio)
} @n-fA=3% farg (Break Even Point)
‘)g,) 20,000 &9 Ty AT T F R Al (Sales required to earn-a-profitof Re: 20,0007
(=) 4.,40,000 &7F #F FTAAT Tt 7 T (Profit at an estimated sales of Rs. 4,40,000)
é}, 8,00,000 & 3 fashy o< gowm A @A (Margin of safety when sales are Rs. 8,00,000).

g ara R & o s § 7 qad wrw ud st & avf fifng |
What is meant by uniform costing ? Explain its advantages and limitations.

m@mﬂ‘ 10,000 TaTénY ¥ I ¥ fire am gorw et TR R
“The expenses budget for production of 10,000 unit in a factory are furnished below :

wfer gard (Per unit)

LLIOO'QU![UOAABP'MMM//Zd],ll,[

& Rs.
= gTdT (Materials) 70
gH (Labour) 25
—gftadaefirar IuRam (Variable Overheads)- 20
vt 9= 1,00,000 €58 (Fixed overheads Rs. 1,00,0005- 40
~gftadaf® 2w (Variable Expenses)- -5
~fasft s 10% RUT (Selling Expenses 10% fixed)- 43
_fazor =g 209 f&T (Distribution Expenses 20% fixed) -1
Wﬁm T 50,000 mﬂ‘ (Administrative Expenses Re. 50,0000—5
Fa @FTa (Total Cost) 155
8,000 FFTEAY T& 6,000 THEAT & Iaure ¥ R AR A FqK AT | ag T F B weralis = wd

w3 o7 R @ |
Prepare a flexible budget for the production of 8,000 units and 6,000 units. Assume that
administrative expenses are rigid for all level of production.

8, wrT 3w § Far ey ¥ 7 S stwer % IgRe T9T ATl A guia Ay |
What is meant by Cost Audit ? Describe the objects and advantages of cost audit.

http://www.davvonline.com

WO AUIUOAABP MMM //:d)Yy



WO dUIJUOAABP MmM //:dNY

9.

10.

http://www.davvonline.com

3
w1 gaaett & wrael fasont i sorar Fifdg
From the following information, calculate material variance :
ufer g7¢ ¥ forg amrft it e W= (Standard material quantity per unit)
wTie g0 9fe far. (Standard price per kg)
% # 7 gt F1 Irfd® e (Actual value of material purchased)
e &7 AfRrA ®&F (Closing stock of material)
yftr 31§ arafd® IwlT (Actual usage per unit)
o &f% s g (Finished stock sold)
dare w1 sfRw =% (Closing stock of finished goods) #

yay @ Rft A oftwarer &g aar 5% sy Esit A R S |
Define standard costing and discuss its advantages and limitations.
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